A & 0l & AFE B Al A

2023E S =0lA LEHE|H ZH RS
A BHRESD
M #HSAAH(JINRSD)
chel: Jl2Ad| (CHl: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
WS 23,175,849 23,905,083 AT29,234
2 2,678,687
2 248,000
< 1,681,798
2 18,567,364
HHLSHAY(ZMLED) 35,920 35,580 340
PIEL 35,920 35,580 340
J1=3H 35,920 35,580 340
201 LBh2dy| 27,280 26,940 340
01 AlR2+2IH] 15,280 14,940 340
@IS =11 11,200
012 A22EY| 100,0002 %1791 1,700
OAIRD1D] & SAIEE 8,000,000 8,000
0J|Et==2H| 1,500,000 1,500
OSZH(ZMDED AREX)
8,000 % 17Q1%304! 4,080
02 2229 12,000 12,000 0
2R3 S 12,000,000 12,000
202 04t 8,640 8,640 0
01 =2LHo| 8,640 8,640 0
ozeloibl(sS24l)
180,000 x4 S+ 12 8,640
HHYTX2H(TMRED) 3,600 3,000 600
ENESSETS 3,600 3,000 600
ol 2 A H| 3,600 3,000 600
203 LREXI| 3,600 3,000 600
04 BNSIAREAIL]| 3,600 3,000 600
ORN2YH2EAY| 300, 00024 % 12 3,600
NEENIEEE 2,316,107 1,953,922 362, 185
2 765
= 169,836
2 2,145,506
NEEVEZEE 2,255,457 1,876,522 378,935
< 163,700
2 2,001,757
NEENIEZERESY 383,650 398,615 A14,965
201 L] 59,650 37,015 22,635
01 AlR2+2IHI 5,650 8,015 2,365
OZMBM S ot - 222 HIH
1,00024*6000H 600
OZMEH S ot - B2 &40 H=
55,0002 %2204 1,210

- 237 -




2AM:

ZHLESn

H: XAZH A5
el XS3 XSt (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
CEEEIEENEEES))
8,000 *621x80 4] 3,840
03 BAH2H 54,000 29,000 25,000
OXEI| SHAHAE At OMAIEE)
13,000,000 %23 26,000
OFEAIE - AL AHIEX OIHIE
10,000,000 10,000
OMRHO0| 435 2/2T2t0l T2
3,000, 0002463 18,000
202 Ot 14,400 12,000 2,400
01 2LH0IH 14,400 12,000 2,400
OXIH B M A R34
200,0002%601x 122 14,400
203 2| 3,000 3,000 0
03 AIZEZRIQREAIH 3,000 3,000
OZMIED AMAREZR
3,000,000 3,000
301 LBEAS 6,600 6,600
11 BAFAHIXIRZ 6,600 6,600 0
OXIGBMEA3IEA HAL EHA
30,0002 %2001x33] 1,800
O30 AIAFAHFE AL EA
30,0002%2001 %53 3,000
OMZHI0| E43} A} &4
30,0002 %2001x33] 1,800
306 £012 200,000 200,000
01 &3 200,000 200,000 0
ONEESUH 52 200,000,000 200,000
308 XXIEHRISOIA 100,000 120,000 A20,000
12 JIErRE = 100,000 120,000 A20,000
OXIAITHALES XIRAF
100,000,000 100,000
SENEE)InE] 1,400 1,400 0
[ 700
= 700
201 L2 1,400 1,400 0
[ 700
= 700
01 AFRZH2IHI 1,400 1,400 0
O&EAE BHuSA 1,400,000 1,400
[ 700
= 700
ANBOl ARD HAEAINAAIY 80,000 100,000 A20,000
[ 32,000
= 48,000
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2AM:

F M

AN DED
NS3H 2zt

R NSNS (Ctol:®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
307 SIZHOIA 80,000 100,000 220,000
< 32,000
z 48,000
02 BRIFAAEE 80,000 100,000 220,000
OAAZOl ARD BHBAINHAIL
2,000,000 4074 2 80,000
= 32,000
z 48,000
Zd LR S UTAZ NAAY 21,000 21,840 840
< 10,500
z 10,500
307 SIZHOIA 21,000 21,840 840
< 10,500
z 10,500
02 BRIJAAEE 21,000 21,840 B840
OB 2R 3|LHZ NRA
21,000,000 21,000
= 10,500
z 10,500
EEPEEEES=INE 6,000 6,000 0
< 1,800
z 4,200
307 SIZHOIA 6,000 6,000 0
< 1,800
z 4,200
02 BIRIFAARIEE 6,000 6,000 0
O ARDERIH BX2 XIS
3,000,0002%29! 6,000
= 1,800
z 4,200
AAD JIYEE HEAY 80,000 71,667 8,333
= 24,000
z 56,000
401 A&HI L= 80,000 71,667 8,333
< 24,000
z 56,000
01 Al&H 80,000 71,667 8,333
OSNSZEX MHABR FHIAY
80,000,000 80,000
= 24,000
z 56,000
ADIEZHE 7% XY 100,000 188,000 88,000
308 RXISHHISOIA 100,000 188,000 88,000
1 BIIZSOICHEHE AR S{E ARSI 100,000 188,000 88,000
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A ZRDED
I [AAR B4
S A=SuEdsl (Crol: z2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OADIESE TENEAE
100,000, 0002 100,000
NEN =T 1,583, 157 1,075,000 458,157
= 82,200
= 1,450,957
201 Lere | 313,157 155,000 158, 157
01 Ar22elb] 313,157 155,000 158, 157
OMEANRIAED 28 T2 298,900
X7 A2 28 U 228
10,000,000, 00024 +2. 45% 245,000
02HIY AEH U U 248
7,000,000, 000&%0. 7% 53,900
OMZ2 018 o 2 2UHIS
4,000,002 4,000
OXHBMSERRINALASE4Z
488,400 215212 10,257
301 LerEEa 20,000 20,000 0
14 JIEr2 a3 20,000 20,000
OMEANIRIAED 245 OME(ZE 5)
5,000,0002#43] 20,000
308 MXISHHISOIA 1,200,000 900,000 300,000
= 82,200
= 1,117,800
TSP EEFERENET] 1,200,000 900,000 300,000
OMEANAED gol 2R3
12,000,000, 000 10% 1,200,000
= 82,200
2 1,117,800
RS TE P 14,000 4,000 0
308 TXISHRISOIA 4,000 4,000
11 27 2SI B A E S A 14,000 14,000
OARITIX BT/ HEDEY| XA
4,000, 0008 14,000
Aazel AAAF| NA 6,250 0 6,250
= 2,500
2 3,750
307 BI2b0IH 6,250 0 6,250
= 2,500
2 3,750
02 QIIAMAI BT 6,250 0 6,250
OA4Z0l HLATH| XA
250,0002+250! 6,250
= 2,500
= 3,750
AaB0l [IXE - 22H0 olTet KB 10,000 0 0,000
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2A: SHuSsH
3 XNSEEH g4gt

cel NASMedst (Crel: me)
S - BE - 9I(3) - HRAY - BES IS Gl Hlms2t
< 4,000
= 6,000
307 2I20lA 10,000 0 10,000
= 4,000
= 6,000
02 BRIJAAIEE 10,000 0 10,000
OAAIZOI CIXIY - 22101 o1Tet XIRAKY
2,000, 000215504 4 10,000
= 4,000
= 6,000
g)@@l CHe! SOIALIA Ol =35 wS(FeIFo0fat 20,000 0 20,000
= 6,000
= 14,000
201 Yere g 20,000 0 20,000
= 6,000
= 14,000
01 Al 22 20,000 0 20,000
00124 At SOIATIA 08 =3 DR
20,000, 000! 20,000
= 6,000
= 14,000
SEENNEE 44,800 64,800 20,000
= 800
= 44,000
ENINEREYS 40,000 60,000 20,000
307 2I2t0IA 40,000 60,000 20,000
04 DIZIHAPAIR B X 40,000 60,000 20,000
OZ0IZ FAl - THOHSAF 25,000, 000! 25,000
OSHHOIZER & AAT Zoj2tars| Nz
15,000, 000! 15,000
ZOISHL A SN 4,800 4,800 0
= 800
= 4,000
402 QI2EXH=0(H 4,800 4,800 0
= 800
= 4,000
02 DIIHE A S (01 FHR) 4,800 4,800 0
OBIZHL Zei2 KA
2,400,00021%274 4 4,800
= 800
= 4,000
AHIREE o 2Jt2e 15,850 12,600 3,250
= 765
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2AM:

.

M S
ANS3H gdst

ol AHIXER B SOt CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 5,336
z 9,749
EP[E=INEET 7,300 7,800 A500
101 Q1A 6,000 6,000 0
04 IRIR22UEES 6,000 6,000 0
OSII2LIER 0124|
250,00081%201% 1228 6.000
201 YEH2 ] 1,300 1,800 A500
01 AlR2 2 1,300 1,800 A500
OS2Ity 822 M
300:@*x2Z*5000H 300
OSIHHHRIRAS| B
100,000 *102115] 1,000
C S)2LEHRY 6,000 4,800 1,200
= 4,800
z 1,200
101 12A4H] 6,000 4,800 1,200
= 4,800
z 1,200
04 JRIRI22RSES 6,000 4,800 1,200
T SIZLIEHQR Q12| XA
250,000 201% 128 6,000
= 4,800
E 1,200
25012 A KA 2,550 0 2,550
2 765
= 536
E 1,249
307 @I2+0I ™ 2,550 0 2,550
2 765
= 536
z 1,249
02 QIZFEAAIIEE 2,550 0 2,550
OEBIIAYA KA
850,00024%37H 4 2,550
2 765
= 536
z 1,249
SENEEEETE] 2,820,169 179,799 2,640,370
= 14,000
= 666,330
E 2,139,839
ENEERE 2,820, 169 179,799 2,640,370
2 14,000
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2AM:

M MEAZSI2L|
S2. MEAE2ACIRY (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
= 666,330
= 2,139,839
HEAZSZE 1,567,500 105,399 1,462,110
101 oI21t] 2.309 2.19 110
DI =S 2.309 2.19 110
ONEAIR LEA T 0159
76,96021% 101302 2,309
201 LBr2 ]| 31,800 31,800 0
01 AF2Z2lt] 21,000 21,000 0
OREAT OPAS Yot o]
250, 0002 *67H Ax 122 18,000
O22LHIUS FEAIF YASE ¢
500, 0002 *67H A 3,000
02 ZZ2H| 10,800 10,800 0
OAEBIEA &I| - 2ZABE
50,0002 +87H A* 122 4,800
OREAF AR SXE4
500, 0002 %6712 3,000
OARSIEA SX 224
500, 0002 *67H A 3,000
301 YBrE = 41,400 41,400 0
14 JIEIE A2 41,400 41,400 0
OBIISHAIR 22| AlH|2A 41,400
OAME! - CHA - CHAMAIR
600, 00024 *37H Ax 1224 21,600
OMYE - 31| - CHHIAIR
550, 0002 %300 A+ 124 19,800
401 AU E0HH] 1,492,000 30,000 1,462,000
01 Al&H] 1,492,000 30,000 1,462,000
ONEAE DBAILS BLTA
50,000,002 50,000
OSHHAI R Z=XE E A ALY
1,442,000,0002 1,442,000
HEAR BH3 =2 72,000 72,000 0
= 10,000
= 62,000
201 YLEr=2 %] 62,000 72,000 210,000
= 5,000
— 57,000
01 At=22lt] 32,000 32,000 0
OEAIE 43} OHY - S22 HME S
2,000,0002 2,000
OMEAIZ 2H0/EAHUA Al =&
5,000, 00024 +2JH A *33] 30,000
03 SAF2ZH| 30,000 40,000 210,000
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2AM:

.

ZHLESn
dSAE=S 2l

el MSAZ2HL|2Y CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ORENE TXSISAS
30,000,000& 30,000
& 5,000
o 25,000
307 212t01 ™ 10,000 0 10,000
= 5,000
i 5,000
04 QIZHHAIAIHE X 10,000 0 10,000
ONSAIE e SHAA
10,000,000& 10,000
& 5,000
i 5,000
HEANY S HAIZA 660 2,400 21,740
= 330
i 330
307 212t01 ™ 660 2,400 A1,740
= 330
i 330
02 QIZHHAAIEE X 660 2,400 A1,740
ONSAIE HHSHXIAAE
660,000 660
S 330
i 330
HSAE ANE ZEX2AE 200,000 0 200,000
= 80,000
o 120,000
201 28t=3| 100,000 0 100,000
= 40,000
i 60,000
01 At22tel] 20,000 0 20,000
ONSAIE &2 N&
10,000,000 *2IH 2 20,000
& 8,000
i 12,000
03 A2 80,000 0 80,000
OFEAIR 2L 20,000, 0002 <27H A 40,000
= 16,000
o 24,000
ONSAIE 40 K8 u=
20,000,000 *2IH 2 40,000
& 16,000
i 24,000
401 AIZHIZL S0 100,000 0 100,000
& 40,000
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2AM:

.

ZHLESn
dSAE=S 2l

el MSAZ2HL|2Y CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 60,000
01 AIZH| 100,000 0 100,000
OFEANF NF 2o &% L 2
50,000, 0002 +2JH 4 100,000
< 40,000
= 60,000
HENT SHHZEAE 23 AL 20,000 0 20,000
= 14,000
= 6,000
401 AIEBIZ 20| 20,000 0 20,000
= 14,000
= 6,000
01 Al&H| 20,000 0 20,000
OFEAIR STLBAL &5
645, 1602+31 4 & = 20,000
= 14,000
= 6,000
COHAE &S SIS ESAY) 960,000 0 960,000
= 576,000
= 384,000
401 AIEBIL Y 960,000 0 960,000
= 576,000
= 384,000
01 Al&H| 960,000 0 960,000
OSAHANE B HHIBA
960,000,000 960,000
< 576,000
= 384,000
g =2 ¥ orF, 22X =X 33 3,152,272 3,131,224 21,048
= 376, 115
7 248,000
< 336, 121
z 2,192,036
LHAIUE AlQICHE 1,265,892 1,024,7% 41,097
< 170,000
= 1,095,892
LHAlQls AlITH® =3 16,170 15,810 360
201 L2 g 7,370 7,010 360
01 Akl 7,370 7,010 360
OUR2IZE B2S NN
2,0002/%1,0000H 2,000
OBTUXCIALNIE S X MR
2,500 50004 1,250
O3l &ALy 100,000 +601%23] 1,200
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2A:
X{XH -
o /e

cH):

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OAZEFHER B8 HE S MA
2,000 *5000H 1,000
OSZH|(L X2 EEAREX)
8,0002%301%80A! 1,920
202 Ot 7,200 7,200 0
01 2LH0| 7,200 7,200 0
ORI HELREE
200,0002%301x 122 7,200
301 YB3 1,600 1,600
11 BAFAHIXIRZ 1,600 1,600
OLXI2IHELREZI 2HE5| &4
20,00094#2501x23] 1,000
OLXie|etets| &A
20,00024x15Q1%23] 600
UTI2IMIE 22 (XHA) 44,479 43,600 879
101 Q124H| 35,186 34,782 404
03 22 (I|HL)22XE4 35,186 34,782 404
OAEAL BHX 35,186
0122 2,492,780 101x 122 29,914
0&REHATE 150,000 %101+ 122 1,800
0EEFIHI 2,492, 78024 %101%60%*23 2,992
0tEs< 40,0002 12 480
202 Ot 2,400 2,400
01 2UH0iL| 2,400 2,400
OLXI2IHIE P84
200,000+ 101122 2,400
304 HBRY3E 6,893 6,418 475
04 2RE(RI|HL) 22X LEH2RY2 S 6,893 662 6,231
OR2RE HEH2 243 6,893
0=pIi=2 35, 186,000 *4. 5% 1,564
0=pIAAEEZ 35, 186,0002*3.545% 1,248
AIUBE=Z 1,248 ,0002%12.81% 160
0LEEE= 35,186,000 %1.75% 616
0HHEE = 35,186,000 *1.0% 352
0EIRAZREZ 35,186,0002%1/12 2,933
2oy H=etats| N 10,000 6,000 4,000
[ 4,000
= 6,000
201 L2 S 10,000 6,000 4,000
[ 4,000
= 6,000
03 BAF2 | 10,000 6,000 4,000
oY MHaerzs i
10,000,000 10,000
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2AM:

BM: 08 21 9 o, 227 =X =8
el LHARUE A (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 4,000
= 6,000
0IS3Y SHAIY 2,000 2,000
201 Lt dy| 2,000 2,000
02 2229 2,000 2,000 0
O022Y AlE2 S22/
2,000,000&! 2,000
AHOIIE ATt AL 232,615 352,442 A119,827
101 Q14| 232,615 352,442 A119,827
VSIEEEIEEES 232,615 352,442 A119,827
OAHIIE ARF2IAF QI24Y] 232,615
IE== 76,9602 %2201 %1042 176,085
0F=Xt=< 76,9602 %2201x 15! 25,397
JJeibyaal=s 76,9602 %2201 552 8,466
0=eI3 201,482,000 %4 . 5% 9,067
0HZEE 201,482,0002%3.545% 7,143
0&IIRLEE 7,143,0002%12.81% 916
0NEEE 201,482,00024*1.75% 3,526
0&IHEE 201,482,00091.0% 2,015
NEEEHIEVEIETEEIE) 332,468 240,632 91,836
[ 166,000
= 166,468
101 Q14| 332,468 240,632 91,836
[ 166,000
z 166,468
04 JI2tHI22 RS2 332,468 240,632 91,836
OXRZEHLXI2IAIY Q124H]
9,62021%3201x 108 A1 2t* 10 332,468
[ 166,000
= 166,468
HEAY DIED| ALY 518, 160 548,640 30,480
101 Q14| 518, 160 548,640 30,480
VSIEEEIEEES 518, 160 548,640 30,480
OYZAE BHED|ARY QI24H|
1,270,00021%5101+8 518,160
ABIEDI2 2 0201 AR 60,000 60,000
307 2IZt0| A 60,000 0 60,000
02 DIZHEAAIIE X 60,000 60,000
ORI 60,000,000 60,000
NEEEESIISINEEREPIEIEYS 50,000 50,000
307 2I2tolA 50,000 50,000
02 QIZFHAAIIE X 50,000 0 50,000
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2AM:

BH: D2 =a oY 2zt 2X =X
CHel: LAl ATHH (Crof: M2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SNEEEN S IEREEERNPER
50,000,000 50,000
ZZ2Z ALY 680,814 682,000 AT1,186
X XHH 2222 A 680,814 682,000 AT1,186
101 Q124H] 668,814 670,000 A 1,186
M JIZH2R2ISES 668,814 670,000 A 1,186
ZDO2AMY Q1| 668,814
0123 1,130,000 +6&*71Q! 481,380
(ES=Ed=: 281,230 2«62 710! 119,804
0=21%= 601, 184,000 %4 . 5% 27,054
0HBEE= 601, 184,000 *3.545% 21,312
RIRYEE= 21,312,00024+12.81% 2,731
0EEE= 601, 184,00024%1.75% 10,521
OATHEE 2 601,184,000 % 1% 6,012
206 XHEH| 12,000 12,000
01 XH2H] 12,000 12,000
OZZ22AIY W2l 12,000,000 12,000
NEEE PSRN 360,700 356,000 4,700
= 21,000
z 248,000
[ 27,500
= 64,200
ABIED|Y SIS (LRI2IEE) 306,700 326,000 A19,300
z 230,000
[ 23,000
= 53,700
307 212+0|& 306,700 326,000 A19,300
z 230,000
[ 23,000
= 53,700
02 QIFAAAIRIE R 306,700 326,000 A19,300
OAMBIED Y SRR (LXI2IES)
306,700,000 306,700
z 230,000
[ 23,000
= 53,700
AFBIE D1 SEXIS(AFZIHL) 30,000 30,000 0
= 21,000
[ 2,700
= 6,300
307 2I2H0| & 30,000 30,000 0
= 21,000
[ 2,700
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SN DS
Hu: 18 21 @ oY, 22X =24 5
= A
=

i

1rrs /7t =

SR ARIRZMIIY SHA

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 6,300
02 QIZHEAANIEE S 30,000 30,000 0
OARRIEZMOIE AIHEHl XI&
30,000, 000! 30,000
= 21,000
= 2,700
= 6,300
ARIED|IS ASIEEZ XIRAIS 24,000 0 24,000
= 18,000
= 1,800
= 4,200
307 QI2H0| M 24,000 0 24,000
= 18,000
= 1,800
o 4,200
02 QIZHBAANSBEE 24,000 0 24,000
OAISIEDIY AlIEEZ 24..000,0002 24,000
= 18,000
= 1,800
o 4,200
NEF=EE FALRel A 751,886 827,750 AT5,864
= 355,115
= 131,626
o 265,145
M EZH HERE ZZHEAIY 40,626 115,506 AT4,880
= 24,705
& 4,776
= 11,145
307 SI2t01 & 40,626 0 40,626
= 24,705
& 4,776
= 11,145
02 QIZHEAANIEE X 40,626 0 40,626
OFOEYE 22| 40,626,0002 40,626
= 24,705
= 4,776
= 11,145
A ARIEZN & @RS TIZ2HEAH 30,060 27,844 2,216
= 13,360
= 5,010
= 11,690
307 QI2H0| M 30,060 0 30,060
= 13,360
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SN DS
Hu: 18 =1 o oY, 22X =24 5

ol NS=EE FEEAC] AFE (cHol: M)

PSIE
ol oﬁﬁoEH HD=2

11,340
17,010

Mo

308 AHXIEHISOIE 63,000 166,900 103,900
34,650
11,340
17,010

Mo W

11 S)12S0CHE &P S A 63,000 166,900 103,900

63,000,000 63,000
34,650
11,340
17,010

Mo W

0]

=
In
o
W
In
>

Q

= 33,700 60,000 226,300
10,810
22,890

Mo

308 AXIEHSOIE 33,700 60,000 226,300
10,810
22,890

MmN

11 2D ZSUICHEZ AR R ETALIL 33,700 60,000 726,300
OFEC2IIS A (1521) 33,700,0002 33,700

10,810
22,890

M H

2 FEN-F==50Y SEEE LAelA 231,000 0 231,000
112,500
36,500
82,000

Mo W

t

308 XHXI

ball
o
>

JIS0I& 231,000 0 231,000
112,500
36,500
82,000

Mo W

11 S 2S00t etE & AE AL 231,000 0 231,000
=]

231,000,000& 231,000
112,500
36,500
82,000

HH W

HESEXEAE 16,000 0 16,000
8,000
8,000
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